oo 1.

ao 3.

00000 0000 (20150 70 220)

cceROOOkeZk#0000,S8' ={ueC||u/=1}00000000
0o0ooo:

pe: R — S pe(x) = exp 2mi(x + €),

pr: St — S pe(u) = u”.

O0p.:R—S'O0py:R—S'O0000000O00O0O0O.
OO0 p,:S'—=8'0p_,:8' =8 0000000000.

.00p: X —>X0O000,X00000000000000000. 00,

2o € XO0DODODO0O0O,0 &,d, cp(x)000000000. 0000,
X00OoOoOop.0000:

pa(m1 (X, Z0)), pul(m(X,E))) C m1(X, 20)
gooooooooooooon.
i=1,20000,00p:%X, —X0000,X 00000000000
D00000. 00,2 €X000000,i=1,200000 & € p; (o)
DDDDDDDDD.DDDD,XiDDDDDpi*DDDD:

P, (M1 (X1, %1)), pos(mi (X2, 22)) C mi (X, o)
DDDDDDDDDDDDDDD.(DDD:DD 2[|[|[|.)

XO0Oo,0b00o00ob00booooobooooooooo.

Wl(X)%ZQDDD,XDDDDDDDDDp:XHXDDDD[IDDDD
oo.

7T1(X)§Z3DD[|,XDDDDDDDDDp:XHXDDDDDDDDD
oo.

ﬂl(X)%Z4DD[I,XDDDDDDDDDp:XHXDDDDDDDDD
oo.

7r1(X)%ZQXZQDDD,XDDDDDDDDDp:)N(—>XD|]|:|DEID
ooooo.

m(X)0 300000 SgDDDDDD,XDDDDDDDDDpZX—)X
gboboogbooobooan.

oo.

http://math.shinshu-u.ac.jp/ kgomi/class/index.html.
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00000 0000 (20150 70 220)

O0R:R—->ROMAx)=2x+e0000000.00000000DO0ODOO,
poh=p.0000000,00000000. (p~'00000000O0.)

00 h:S'— S0k =4'0000000.00000000000
O,proh=p_,0000000,00000000.

X00oO00OoO000O, 400 #4000§:[0,1] - XO00000. pog:
[0,1] - XO0,2,000000 X00O0OOOOO0OOd. y=[pog] € m (X, xo)
000.00,000 9 ep(m(X,2)0,00 [flem((X,)0000,
n =pJf]0000. 0000, G*f)+«g0 X00 2,00000000
00000 p=p[G*f)*glem(X,2)0000,000000:

vt =[peglpedllpe fllpegllped =[po f1=1
0000,000 p(m (X, %)), p«(m (X, %)) 000000,

0000,0000h:X;—>X0poh=p 00000000000. A
000000,0000 h,: m(Xy, &) — m(Xe, h(£)00000,00,
h*(ﬂ'l(Xl,.i‘l)):Fl(XQ,h(.i‘l))DDD. DD,szh:plmmm,ﬂ'l(X,l‘o)
opoooooag,

P (w1 (X1, #1)) = pa, (ha (71 (X1, 81))) = pa. (71(Xs, h(E1)))
00000 & €p; (x) 00000, h(z)€p; ' (x)00000.000,
o0 200000 s pg*(ﬁl(XQ,h((fl))) O EQ*(Wl(XQ,fQ)) O zrl(X,xo) oo

0000000000.0000, py,(mi(X1,#1)) 0 pa,(m(Xs, #)) 000
ooo.

0000000, X0000p: X —>X0O0O0O0O X00OOOoOooooo
00000000, (X)0D0O0O0OO0OO0O0O0OO00OO0oUOoooO. 0o, m(X)
gbooobOobo,0oboboobooboooo,oboboooooboon.

Z,0000000,000000000000000. Z, 00000 {1}0O
Z,O0O00ODOOO,00020000.

000 zZ;000004{1}0Zz;000000,00020000.

000 Zs={+1,+}00000, {1}, {+1}000 z,0000000, O
0o30000.

000 Zy x Zy = {(£1,£1)} 00000, {(1,1)}, {(1,+1)}, {(x1,1)},
{£(1,1)},Z, xZ,0000000,00050000.

S;00000,0006000:
{(W}, A1), (12)}, {(1),(23)}, {(1), (13)}, {(1), (123), (132)}, Ss.

oobo0o,0020000300,00000000000000000O0AO
0.000,500000000000040000,00040000.



